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1. Choose the correct ariswer : 1x8=8
@ IfAis any even, then |
C® Pay<;
@ OsP@y<y
(iii) P(A) > 0
@iv) O < PA) < 1
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~(b) IfP(A) = P(B), then two-events A and Bare - (e) .Main tools of SQC are
(i) Independent " () Shewhart's charts
(ii) Dependent | - o @ Acceptﬁﬂce.saxhpling plans
Gii) Equally likely . - (i) Both (i) and i)
(iv) Both () and (m) N B (iv) None of the above
. (¢) If only two varisbles are chosen-to study | " Which of the follo’v;/ing:is the main limitation
o corrdafion between them, then such corre- . of range as 5 measure of Income Inequality.
o .lation is called as | . () Itignores the disuibuﬁoninv&tween the
~ () Simple correlation N extremes | .
(i) Multiple correlation (i) 1t does not focus on overal distibution
(iif) Partial correlation o | (iii) It ignores the main differences
(iv) Partial Regression correlation (iv) None of the above

() If the comelation coefficient ‘between the (8) Formula of Stapdard Error (S.E) is

" two variables X and y i3 positive. then the | : ,
regression coefficient of x and y ise (@) SE (i);%

() Positive - - ) ' »
. . LT (b SE ®)=C
(ii) Negative . | ' . -
(iii) ‘Positive but lesg ghan 4 [ | ‘
| thanl , ‘ , (C) S.E. (i):\’g'.{.nz ‘

(i) P‘?sitive but mgre than  1 @ s Z v+
| ‘ v nE- (x)
_ & :/-n
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| (h) A sample is considered to be large one if
® >3 @)<30
(iii) > 10 (iv) None of the above.
Aniswer the following briefly :. -
(@) Define any four of the following :
(i) Random Experiment |
(ii) Trial © Event
(iii) Bqually likely Event
@iv) Exhaustive Event-
(v) Mutually Exclusive,
(b) Write four dlﬁ‘erences between
and Regression ~

(c) Mention four objectives of SQC

(d) Write a short note op Stiiem,ent of central

3 coins are tossed simultaneqyg)
a1e . y at .

the probability of getting random. Find

- (i) No Head

(ii) Exactly one head
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4x4=16 |

probability of getting

Correlation |

(iii) At least two heads
(iv) 'All heads

(V) All tails
" (vi) At least two tails.

Or .

2 dice are rolled simuitaneously. Find the
o 14

(i) a doublet

(ii) the sum of the numbers on the two dice is
8 . .

(iii) the sum of the number on the two dice is
9, but one of the dice must show 3

(iv) sum of numbers on'the two dice is at least
10 .

(v) sum is neither 7 nor 11

(vi) at least one of the dice must show 4.

Calculate Karl Pearson Correlation Coefficient
from the data given below : 14

14 |

X:12 14|56 s |1

Y:[18]|12|10]g |7 | 5
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Define Regresswn Analysls and expl ain  its
dxﬁ'erent types. o ' 14

You are gnven the values of

the range (R) for the ten
Draw mean and range charts gpq
.state of control of the Process, |

W

:434937445'37?1:4643:7—

:\ N _—

R :I516 1517 1|7

4
|sample |1 |2 |3 [4°]s ¢

————— e

— . . . \
You may use the following °°nﬁ'ol
FO!' n=>35 Az 0 58 D =90 and D

' causes of variation i What are the |
techniques of SQC. Q“““Y ? Explain’ the
2+4+8=14

6 @ Wit the conditiong for " @plying x? tost.
. g X
4
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samplemean(x)and |
samples of size 5 each.

°0mments on the

chart constants
=2.115

(b) In a remote wllage out of 120 people vaccine
was - administered to 76 people to control
viral fever and the following results were
obtmned

1 | Affected. | Not affected
| Vaccinated - 2% 52

Not-vaccinated 32 | 12

Calculate x2 and discuss the -usefulness of
vaccine in controlling viral fever.

(5% value of x2 for one degree of freedom
= 3.84) 10
‘ o
Write a details note on types I and ty.pe I
error in testing hypothesis with suitable
© example ? ‘ 14
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